Division par 0,1 (B)

Trouvez chaque quotient.

56 +0,1= 80+01=
94 - 0,1 = 25+0,1=
92 +-0,1= 69 +0,1=
100 +0,1 = 45 +-0,1=
47 = 0,1 = 28+0,1=
55+0,1= 92 +-0,1=
91 +0,1= 23+0,1=
56 +-0,1 = 25+0,1=
32+0,1= 32+0,1=
50+0,1= 66 +-0,1=
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Division par 0,1 (B) Solutions

56 + 0,1 =560

94 + 0,1 =940

92 +0,1=920

100+ 0,1 =1000

47 + 0,1 =470

55+ 0,1=550

91+0,1=910

56 + 0,1 =560

32 +0,1=320

50+ 0,1 =500

Trouvez chaque quotient.

80+ 0,1 =800

25+0,1 =250

69 =~ 0,1 =690

45 + 0,1 =450

28 =+ 0,1 =280

92 +0,1 =920

23 +0,1=230

25+0,1 =250

32-+0,1=320

66 +- 0,1 = 660
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